Year 9 Maths - Term 1
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i Cumulative Fredueney araphs

LA camulative freauency table shows a running total of the freauencies. A cumulative freanevey diagram or graph, is drawn

by plotting +he cumulative frequency against the upper boundary of the class interval and +then joined together.

e.q. Plot a comulative freauency diagram of the following data

Cumulative Frequency Graph of Cycling Speeds
Speed of oyclists | Freduewey | Cumulative freduensy
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15<+<20 20 12+20=32 A
20=+<25 16 32 +16 =48
255+ <30, 5 4B +5=53
30 <+<35| 1 53 +1=54
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Plot the upper bound of the groups
against cumulative freduenty so
(10, 4), (15,12) avd e on,

Start by calenlating +he
camulative frequency

Join as a simecth curve
or as straight lines

between each point M - .
SPEED IN KILOMETRES PER HOUR
Cumulative Freguency Graph of Cycling Speeds
A cuwmulative freauency araph can be used i
to estimate the lower quartile, median and . » =
upper duartile of grouped data. Vi
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Praw a line acress from each of these 3
points until they hit the curve, thew go
dovwn +o Hhe horizental scale and read off.
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The lewer quartile is 15.5, He median is 19 and the upper quartile is 24.5




